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15)

Y=2X-3 seegraph
solid

(0,0) -200)+(0)=-3, 0=-3 false
(3, 0) -2{3;4-{0}:-3. 653 Irue

ou may choose any poi u wish as long as
gayarﬂnn opposite ﬁasulﬁa line) o

see graph

Y=2/3X-3 seegraph
solid

(0,00 3(0)=2(0)-9, 0s-9 false
(0,-4) 3(4)=2(0)-9, -12£-89 true

see grapn

Y=15X+1 seegraph
dotted

(0,0) -_su%--sm >5 5>5 false
(0,2) -0)+5(2)>5 10>5 true

see graph

Y<3X-5

¥Y>-3X+5
Y<3X-5

multiplying or dividing by a negative number

12C

1) onthe graph
2) dotted
For next step, change -Y>-2X-1t0Y<2X + 1
3) (0,0 {(%-:z{n}n. D<1 true
(0, 2) <2(0)+1, 2<1 fake
4) on the graph

5) yes (determine by plotting on graph or
sSubsituting vmeﬁ in inequality)

8) (0,0) (0)s(0)-3, O=
(4,00 (0)s(4)-3, 0=1 true

9) on the graph
10) multiplying or dividing by a negative number

-3 false

|
|

11) WFx16=1, WF=1/16

12) WFx2000=1, WF = 1/2000

13) -2Y=-3X+5 Y=32X-52

14) slope = 3/2 i

15) sope =26 Yokow ~ 75

16) Yinlerceplis-2, Y=2X-2 or 2X-Y =2
17) 16X 242 = 38.72

18) quadrant 3

1 _ 10 - 2=
19) Sl (?01) =(1.6)(10), ?=16km

1 & .
EﬂJ 1-& .1—0 {1H1U]l{1+ﬁl{?]. ? =6.25 mi.

120D

1) on the graph (Y = -2)
2) doltted

3) 0,0) (0)+2<0, 2<0 false
0,-3) (-3)+2<0, -1<0 true

4) on the graph
5) 4Y <8, Yc< -2
A

=

- A 4 -
6) onthegraph (Y=13X+2)

7) dotted

8) (0,0) (0)-3>13(0)-1, 3>-1 false
(0,3 (3)-3>13(0)-1, 0>-1 1true

9) on the graph
10) Y<2X-1

[ i
X!
11) WFx60=1, WF =160

12) WFx7=1, WF=1/7T=.14 = 14%

1 10
18) — == (NX)=(45)10), X=45kg
X

14)

a5 = 2 (1)(2) = (.45)(X), X =4 4/9 Ibs.

15) Y=23X+12, m=2/3
16) slope = -3/2

17) (;I'}ml 1)+b, b=372
=-12X+32 or X+2Y=3

18) 9+25=.36=36%
19) 6N-5N+8
20) 6(10)-5{10) +8=60-50+8 = 18

acl - g¢| suonnjos



